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IMPORTANT EQUATIONS

EQUATION FOR CAPACITIVE REACTANCE

Xe= x 1,000,000

i
2xFc R

Xe = The value of capacitor required
n =314
Fc = Your chosen crossover frequency

R = The impedance of the speaker

EQUATION FOR INDUCTIVE REACTANCE

XL= x 1,000

_R__
{2n Fo)

XL = The value of inductor required
=314

Fe = Your chosen crossover frequency
R = The impedance of the speaker
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SCHEMATICS

First order 2-way schematic
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First order 3-way schematic
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Second Order 2-way schematic
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C= capacitor, L = coil, R = impedance of speaker
F = chosen crossover frequency
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Second order 3-way schematic
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C= capacitor, L = coil

R# = tweeter impedance
RM = midrange impedance
Re = woofer impedance,
FH = the upper crossover frequency
Fi = the lower crossover frequency
F = square root of (Fu x FL)

Third order 2-way schematic
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C= capacitor
L = coil

RH = tweeter impedence
RL = woofer impedence,

F = your chosen crossover frequency



Third order 3-way schematic
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C= capacitor, L = coil, RH = tweeter impedance,
Rm = midrange wnpedance, RL ="woofer impedance,

Fu = the upper crossover frequency, FL = the lower crossover
frequency, Fum = square root of (Fu x FL)

Fourth order 2-way schematic
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C= capacitor, L = coil

RH = tweeter impedance

RL = woofer impedance

F = your chosen crossover frequency



Fourth order 3-way schematic
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C=capacitor, L = coil, RH = tweeter impeldance,

RM = midrange impedance, RL = woofer impedance,
F = upper crossover frequency, FL = lower crossover
frequency, FM = square root (Fsi x FL) )



